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SHAWL TRINE #12/15

MEASUREMENTS Width approx. 120 cm/47.3”, height approx. 32 cm/12.6”

MATERIALS LAMANA Premia (60% Super Kid Mohair, 40% Silk, approx. 300 m/25 g) each 25 g in color Silk
Grey 03 and in color Wool White 00, knitting needles size 4 mm (US 6/UK 8), 1 tapestry needle

ABOUT The explanations of the abbreviations used in this pattern can be found on last page

PATTERN NOTE Main stitch pattern: Half Brioche Stitch: Row 1 (RS): alternately p 1, k1, end with p 1
Row 2 (WS): *k 1, sl 1 purlwise with yo, rep from * to last st, end with k 1

Row 3 (RS): *p 1, ktog st with yo of previous row, rep from * to last st, end with p 1

Row 4 (WS): *k 1, sl 1 purlwise with yo, rep from * to last st, end with k 1.

Keep repeating rows 3 and 4

Increase 1-to-3: work k 1, 1 yo, K 1 into same st (+ 2 sts)
3 st I-Cord edge (ICe): RS: k 3; WS: sl 3 sts purlwise (with yarn in front, wyif)
Gauge/Tension: 20 sts and 44 rows, worked double stranded, in main stitch pattern using needle size

4 mm (US 6/UK 8), not stretched = 10 x 10 cm/4” square
(Please adjust needle size if necessary, to obtain correct gauge)

HOW TO The narrow, symmetrical triangular shawl is worked entirely double stranded and starts at the
right tip. An I-Cord edge (ICe) is worked on both side edges, as soon as enough sts are increased. The inc’s
to form the bottom tip (and later the dec’s) are always worked at the end of a RS row.

CO 4 sts and work as follows:
Row 1 (RS):3ICests, k1
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Row 2 (WS): p 1, 3 ICe sts (i.e., sl 3 sts purlwise, wyif)

Row 3 (RS): 3ICe sts, 1yo, kK1 (+ 1 st; 5 sts in total)

Row 4 (WS): sl 1 purlwise (wyif), k 1 tbl, 3 ICe sts

Row 5(RS): 31Ce sts, p1,1Yy0, K1 (+1st; 6 sts in total)

Row 6 (WS): sl 1 purlwise (wyif), k1tbl, k 1, 3ICe sts

Row 7 (RS): 31Ce sts, p1,1Yy0, K2 (+ 1 st; 7 sts in total)

Row 8 (WS): sl 2 sts purlwise (wyif), purl yo tbl, k 1, 3 ICe sts.

(From now on, work first and last 3 sts of every row as ICe sts)

Row 9 (RS): 3ICe sts, p 1, 1Yo, 3 ICe sts (+ 1 st; 8 sts in total)

Row 10 (WS): 3 ICe sts, k1 tbl, k1, 3 ICe sts

Row 11 (RS): 3ICe sts, p 1, 1Yo, p 1, 3 ICe sts (+ 1 st; 9 sts in total)

Row 12 (WS): 31Ce sts, k1, p1tbl, k1, 3ICe sts

Row 13 (RS): 3 ICe sts, p 1, inc 1-to-3 (see instructions above, i.e. k 1, 1 yo, kK 1 into same st), p 1, 3 ICe sts
(+ 2 sts; 11 sts).

In next row, main stitch pattern is worked between ICe sts for the first time. In addition, from now on, only
work inc’s in every 8% row (i.e., every 4" RS row), and always work inc’s into fifth-to-last st of RS row (i.e., a
knit st). Continue working as follows:

Row 14 (WS): 3 ICe sts, *k 1, sl 1 purlwise with yo, rep from * once more, k 1, 3 ICe sts

Row 15 (RS): 3 ICe sts, *p 1, ktog st with its yo, rep from * once more, p 1, 3 ICe sts

Rows 16, 18 and 20 (WS): as row 14

Rows 17 and 19 (RS): as row 15

Row 21 (RS - with inc): 3 ICe sts, p 1, ktog st with its yo, p 1, inc 1-to-3 into in next st (incl. its yo), p 1, 3 ICe sts
(+ 2 sts; 13 sts in total)

Row 22 (WS): 3ICe sts, *k 1, sl 1 purlwise with yo, rep from * to last 4 sts, k 1, 3 ICe sts

Row 23 (RS): 3 ICe sts, *p 1, ktog st with its yo, rep from * to last 4 sts, p 1, 3 ICe sts

Rows 24, 26 and 28 (WS): as row 22

Rows 25 and 27: as row 23

Row 29 (RS - with inc): 3 ICe sts, *p 1, ktog st with its yo, rep from * to last 6 sts, p 1, inc 1-to-3 into in next st
(incl. its yo), p 1, 3 ICe sts (+ 2 sts; 15 Sts)

Row 30 (WS): as row 22.

Keep repeating rows 23-30 (after every inc, main stitch pattern 1 expands by 1 ridge), until a total of 67 sts
are on the needle.

After last inc, work straight for 7 rows (= bottom tip of shawl), beg and end with a WS row, then start
working dec’s, as follows:

RS: 3 ICe sts, then work in pattern to last 8 sts, end with p 1, k3tog (incl. their yo’s), p 1, 3 ICe sts.

Always work all WS rows in established pattern.

Rep these dec’s as described above [always k3tog (incl. their yo’s)] in every 8" row (i.e., every 4™ RS row),
until only 11 sts rem.

Work one more WS row, then finish the shawl in mirror image, as follows:
Row 1 (RS): 3 ICe sts, p 1, k3tog (incl. yo’s), p 1, 3 ICe sts (9 sts)

Row 2 (WS):31Cests,k1,p1,k1,3ICests

Row 3 (RS): 31Ce sts, p 1, k 1, katog, 2 (1) ICe sts (8 sts)
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Row 4 (WS): 31Cests,p1,Kk1,3ICests

Row 5 (RS): 3 ICe sts, p 1, k2tog, 2 ICe sts (7 sts)
Row 6 (WS): 3ICe sts, k1, 31Ce sts

Row 7 (RS): 3 ICe sts, katog, 2 ICe sts (6 sts)
Row 8 (WS): 2 ICe sts, p 1, 3 ICe sts

Row 9 (RS): 2 ICe sts; katog tbl, k 2 (5 sts)

Row 10 (WS): p 2, 3 ICe sts

Row 11 (RS): k 2, k2tog tbl, k 1.

In the next WS row BO rem 4 sts purlwise.

www.lamana.de

TO FINISH Weave in all ends. Carefully pin shawl onto a soft surface acc to measurements, dampen and

leave to dry under damp clothes.

32

All measurements in cm
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ABBREVIATIONS

acc = according

beg = begin(ning)

BO = bind off

CO =caston

dec(’s) = decrease(s)

ICe = I-Cord edge

inc(’s) = increase(s)

k = knit

ktog = knit together
k2tog = knit 2 sts together
k3tog = knit 3 sts together
p =purl

rem = remain(ing)

rep = repeat

RS =right side

sl =slip

sl1=slip 1 stitch purlwise
st(s) = stitch(es)

tbl = through back loop
wyif = with yarn in front
WS = wrong side

yo(’s) = yarn over(s)

STITCH SYMBOLS

! Knitting direction

SKILL LEVEL

(» beginner intermediate
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